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COMMERCE - 1I

arforss - 11

1

Which of the following is not a criterion
laid down by RBI for NPA ?

(A) Interest on loan taken to purchase
personal assets remaining overdue
for 60 days.

(B) Interest on loan remaining overdue
for 90 days.
(C) Interest on loan taken for long

duration  agricultural  crop
remaining unpaid for one crop

season.

(D) Interest on loan taken for short-

duration agricultural  crop
remaining unpaid for two crop

seasons.

Cost Audit comprises following three
steps :
(A) @

(i) Verification

Identity wastage

(iii) Reformation of cost plans
(B) (@
(i) Cost Analysis
(iii) Reporting
© @
(i) Verification
(iii) Reporting
D) @
(i) Cost Analysis
(iii) Reporting

Cost Planning

Review

Cost Determination

freferfiaa # § HAE WS RBI S NPA

=1 Fruifa @ fea mn?

(A) oo it % %4 & fog, fod
M HOT W A= 60 ferti % fearg ARt
el

(B) U WA o0 el % ferg, =t T&m

Q) Frefrelta BT wae & fa, fod ™
mmmwwmﬁﬁﬁam
Zed @

(D) ST Hie wEa % fag, ol ™
0 I A @l e HEEEE &
fiu s1ee @M

Wﬁmﬁﬁﬁﬂ?ﬁ?q‘dﬂﬁlﬁ?:

(A) () &FH faf=a w0
(i) HETH A
(i) T ST 1 AR HTA

(B) (i) < T &
() TG fever FT
i) wioerEd &

() () QAT B
(i) T HE
(i) wfoEEA &

D) () @ i
(i) @ faverEm H
(iif)  WfoerE &
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The difference between ‘Rule of
Communication of Acceptance’, as under
English Law and Indian Law is :

(A) In the position of offerer
(B) In the position of an accepter

(C) Both in the position of offerer and
acceptor

(D) Neither of them

Which of the following is not included in
Job description ?

(A) Working Conditions
(B) Duties
(C) Work Experience

(D) Hazards

Which of the following type of tests
measure practical ability on a specific job,
during the selection process ?

(A) Personality Tests
(B) Knowledge Tests
(€) Work Sample Tests

(D) Intelligence Tests

3.

st 3R vt fafy & oo, ‘Sg= =
fm' % dre § = fuma 22

(A) fracs =it veet §

(B) il & vedt §

(C) T iR wierswdl a9 F veat §

(D) 9 § Fr§ &

Frfafas § @ $a w9 faao & fafzg
e 2

(A) T
(B) W=
(C) gy
(D) ifeEw

=g g & A fefafes 8 3 39T
e 1 WehR = 1 9w seeif e
I HYA E ?

(A) =afmE wem
(B) ¥ wiiam

(C) = wfeest wdteqo
(D) s e
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The extent of closeness among inventory
turnover ratio, debtors turnover ratio and
cash turnover ratio of a firm can be
assessed by using :

(A) Spearman’s rank correlation
coefficient

(B)  Yule's coefficient of colligation
(C) Kendall's coefficient of concordance

(D) Pearson’s simple correlation
coefficient

Consider the following statements :

(a) Securities are backed by long term
loans with high interest rates.

(b) Securities are backed by short term
loans with low interest rates.

(c) Securities are backed by accounts
receivable.

(d) Securities are backed by royalty
payments from contracts.

Which of the statement/ statements given
above is/are correct ?

(A) Only (a)
(B) (a) and ()

(© (@), () and (9
(D) (@), (b) (©) and (d)

fordt v & @y sad U, S anad
I SR T S STIE % 9 Frped
foram %1 geaiea fF o g #

(A) I HT FF Te-gay quiE

(B) I 1 HedrsH TUiw
(C) Ui 1 gHwfa Tons
(D) "o 1 A FE-dey 0

Frefafas weFl w famm Hifsm -

(a) wfayfadi =), 3= = &4 & =y Setafy
O | Tmfa T s

(b) Wil i fr= =9 <0 F |y
FreqEty § aafda fam s

(c) ¥ @l % g wfayferdi =1 gufda
o < 2

(d) STET & W Tt TR e
51 wfayfadi 1 wafea fea s )

IR R T e w | B
/€2

(A) %9 (a)

(B) (a) 3R (b)

(©) (a). (b) 3 (o)

(D) (@), (b), (c) 3R (d)
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8. Marginal utility refers to change in the 8. ¥iuiq Syrifran, fedt asq 1 -
total utility obtained from the & ] g FA syEfa o
of an additional unit of a commodity. REECRE DS
(Fill in the blank with correct word) (3Fa ¥1e2 gR1 o T 1 qu i) )
(A) Purchase (A) EliT
(B) Creation (B) YA
(C) Production (C) 3Z=A
(D) Consumption (D) 9%

9. In effective target market, the marketers 9. W w&g a=R § faqurreat = e FHigm
should focus on : wAE
(A) Market targeting (A) dINR @& 9
(B) Market positioning (B) =R feufg w
(C) Market segmentation (C) TSR EEFwm «

(D) All of these (D) S9g=m @i

10. Prescribed E-return form for assessee  10. &l o Hae AT T S Y 3 A, ege
whose income from salary and interest HEE & fow -fed &g feifa wid &
only :

(A) ITR-1 (A) ITR-1
(B) ITR-2 (B) ITR-2
(€ TIR-3 () ITR-3
(D) ITR-4 (D) ITR-4
SPACE FOR ROUGH WORK / 1% T4 % fordt wg
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11.

12,

In case of dissolution of partnership firm
Debit side total of the partner’s Capital
Account is more than its credit side of the
treatment is :

(A) That partner brings Balancing
figure in cash.

(B) Hisaccountis closed with balancing
figure.

(C) Other partners pay him the
balancing figure.

(D) Firm pays balancing figure to that
partner.

Identify the key constituents for
performance marketing of Holistic

marketing dimensions from the

following :

(a) Customers

(b) Brand and customer equity
(c) Employees

(d) Ethics

(e) Environment

(f) Sales revenue

(g) Financial community
(4) (@) (), (B (g)

(B)  (b). (d), (e), ()

©) (@) ®) (@, (@)

(D) () (e). (). (g)

11

12.

fordit o o faees =it gun ¥ =fe foreht TR
& Yofl @ 1 fashe v w1 A aeeEer
T | SITE1 Bt § o SHe WHIH 2

(A) 9% UIEER 9HE 99 THE §9 § T
AL

(B) 39! @ 99 & WY =g KL faar 5
Tl

(C) 7 WERR I T T 99 T gFH
el

(D) H WY T 3H WIEER F gF 5

=1 4 9 eifafes fauum s 3 fes
faum & fou g@= 9=l %1 ggam
wHifeg

(a) e

(b) wIiE IR UEF W=
(c) wH=Rt

(d) Hfaemes

(e) TFfEIm

() Toshl T

(g) Faeia wEm
(A) (@) (), @), (g)
(B) (b), (d). (e). (f)
(€) (@) (b), (c), (d)
D) (@) (e). (). (8)
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13.  Match the items of List - I with those of ~ 13. gt - 1%} 5ef =t el - 11 76 & |1y
List - IT and indicate the correct code. ﬁﬁfﬂﬂ HIfe 5 Fﬁ@f g W& 3T FT 9941
HIfST |
List - 1 List - 1I gt -1 et - 11
(a) Make or buy decision (i) 801 A (a) W& =E Iefeq (i) 801 A(sm)
of goods (Section) FL AW FT H
(b) Shut down or (i) Set off and (b) HIEE §g (i) BIFEl = gfd
continue of carry HE A =M &G 3 3= 3
business forward of A S
losses
(c) Renewal or (i) Section-32 () WufwH # FeHFO (i) ww- 32
replacement A1 g
of assets
(d) Undertakings (iv) Production (d) STHRYA Sr=e (iv) Ic9IEA &HaT
engaged in capacity % o &g TS @R
development of and cost Tfya 3usHy
infrastructure '
Code : FE:
(@) (b) (d) (@) (b) (d)
(A) (v) (i) (i) (A) (v) (i) (1)
(B) (iv) (i) (1) (B) (iv) (i) @
€ @ () (iv) © @ (@ (iv)
(D) (i) (i) (iv) (D) (i) @) (iv)
SPACE FOR ROUGH WORK / T% & % ford g
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14. Which of the following statements is not
true in the context of Average Cost and
Marginal Cost curves ?

(A) Both the Average Cost curve and
Marginal Cost curve are U-shaped

(B) When Average Cost falls Marginal
Cost is more than average Cost

(C) Fall in Marginal Cost is related to
one unit of output while in case of
average cost fall is spread over all
the units.

(D) If Average Cost is constant
Marginal Cost must be constant.

15. Price at which stocks are sold to investors
by the investment banks is called :

(A) Spread

(B) Gross proceeds

(C) Net proceeds

(D) Earnings before tax

14.

15,

e @ U Hieid e o ¥ ded o
= 9 4 FF- wy w@ A 52

(A) 3=a @vm 5% wd Hiwie a9
<M U-2TaR & ¥

(B) & 3fred @ fren & i @,
aftea @ | sAfyer g

(C) rwia @ § e, steeye ¥ ww
T | Haifera g € W aired e
& ue ¥ e it e § s
wARI

(D) 3fg sfrgd @ feer g 8, o dmiq
T st fer g =fe)

e =1 gro i 9 fasear vy e A

(A) wERM
(B) Whet wiftaar
(C) e wiftasi

(D) = H qd 3= FE

SPACE FOR ROUGH WORK / T% &4 & fod smg

9210/TFU-COMM/ELG-II

Set- A



16. Different countries and cultures have  16. fafs=r e sfr doepfa niffes faeafg
taken different attitudes to the concept of H Fwea T & o fafis TN &t # )
ecological responsibility, resulting thereby THF TRy ¥
in :

(A) transfer of production from (A) Tobfad e @ fawmia e 5
developed countries to the I T FHIR |
developing countries

(B)  resistance to use green products (B) =@ 3R % 3udm w wfidy

(C) improved corporate social (C) erfvafgn amfes amfss fodafat
responsibilities

(D) shutting down of production (D) 3red gfawsd &1 ses
facilities

17.  According to Gordon’s dividend model, 17. 7T % wr4ie wfaey (model)%aﬂ'ﬂﬂ%ﬁf
a firm is said to be a declining firm if : HH H1 37ETa B FE R A
(A) K>r (A) K>r
(B) K<r (B) K<r
(C) K=r (C) K==
(D) K=1/r (D) K=1/r

18. Memorandum of Association is defined 18, =wt sififam, 2013 7 H 19 (Heivey
under which Section of Company A1 TEIfguem) forg um # uftfa fen
Act, 2013 ? T ?

(A) Section 2(55) (A) HRT 2(55)
(B) Section 2(56) (B) T 2(56)
(C) Section 2(57) (C) Hm 2(57)
(D)  Section 2(58) (D) T 2(58)
SPACE FOR ROUGH WORK / % %14 % ford e
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= 4 & 31 @ 79w g = ol
oA 1 T T8 &7

19. Out of the following which one is not the 19,
technique of price level changes

Accounting ?

(A)

(B)

(©

Current Cost Accounting (C.C.A)
technique

Current Purchasing Power (C.P.P)
accounting technique

Current Price Detoriation (C.P.D)
accounting technique

(A) 6 ATE S qrE
(B) I %4 wifem or@iwT awE

(C) =] Yoo fivree sy gt

(D) Replacement Cost Accounting (D) Wiae9s Are e gt
(R.C.A.) technique
20. Types of non-tariff barriers are : 20. ﬂ'{-mﬂﬁﬁ A F THRE
(a) Government Procurement (a) TR Tt
(b) International Cartels (b) ST Fo
(c) Technical Barriers (c) eReteRt =ME
(d) Specific Tariff (d) fafere 9w
(e) Transit Duty (e) wiEET =t

Which one of the following is correct ?

Frefafas § & 9w @ 2

(A)  (b), (0), () (A)  (b), (c), ()
(B (e) (d). (e) (B)  (©). (d). (e)
(©) (@), (d). (e) © (@, (@), (e
(D) (@) (®). () (D) (), (b), (c)

SPACE FOR ROUGH WORK / T% &T4 & ferr g
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21.  Match the following 21. fr=fafaa = gafaa #ife .
List-1 List-11 it - 1 -11

(a) Optimal (i) Durand (a) 3%a® Ysit Hr=m () give
capital structure

(b) Optimal (i) Markowitz (b) ¥R W OEE () AR
dividend payout S REIG]
ratio
(c) Optimal portfolio (i) Walter (c) ww=aw frém wsit (iii) T
(IRwRIferET)
(d) Optimal cash level  (iv) Baumol (d) F=09 T &R (iv) @9e
Code : E T
@ () (o (@@ @ () (© (@
(A) @ @) (i) (iv) (A) O (@) () (v)
B) () (@) @ (v) B ) @) @H (@)
(©) Gv) @) @) (@) € Gv) @) @) @
(D) () (@) () (iv) (D) @) @ @) ()

SPACE FOR ROUGH WORK / T% &1d % fog T
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22. Match the following : 22, fyefofas 1 gafeaa wifs
List - I List - I g -1 e - 11
(a) Pearson’s first (i) sﬂﬁ‘;‘iﬁfjﬁ (2) fore ) 3(::%—%:1“)
measure of S I
skewness Woq g
(b) Pearson’s second (ii) ﬂ]’%’lg—l@l (b) force (i) E*‘Si-—r‘%‘l‘i
measure of A
skewness T "
W Sl (89 Stifdz_dt{:;zm (c) afeet &1 q9=rar (i) %—%ga;)
coefficient of o
skewness
(@) Kelly's (v) (G720 @ SR gy Q-205+Q)
coefficient : il
Toneh
of skewness
Code : Fe
. @ (b) (o) (d) @ (b) () (d)
(A) (@) @ @ @) (A) @) @ @ ()
(B @) @) @ (i) B @ @) @ (v
© @) @ (@v) (i) ©) @) @ @) (i
(D) (v) @ () (i) D) (v) @) @) (i)
SPACE FOR ROUGH WORK / 1% &Td & fordr wme
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23. IfP/V ratio is 40% and marginal cost of ~ 23. e fircit SCUTE T WA/ HH S 40% &
a product is ¥ 30 the selling price of the TN HE T 2 30 # A 39 T
product is : BRI :

(A) *70 (A) %70
(B) %80 (B) T80
(©) Ts0 (C©) T50
(D) ¥ 72 05

24.  The authority to issue various policies in 24, Fafir= et #1 w1 F13 =1 wifesn
which of the following does match : frafafes 4 @ s gifea Fw & 2
(A) Credit policy and - RBI (A) rE =fifd o 7z A - s o,

monetary policy
(B)  Fiscal policy - Ministry of (B) TsRIdta fify - anforw wamery, wra
Commerce, TR
Government of India
(C) Foreign Trade - Ministry of (©)  forcwit = ife - o wrer, wig
policy Finance, TR
Government of
India
(D) All of the above (D) 3udaa quft
SPACE FOR ROUGH WORK / T% &4 % forg g
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25.

26.

The
international receipts and payments of a
country during a year.

is an annual record of

(Select the appropriate alternative to fill
in the blank)

(A) Balance of Payments

(B) Balance of Trade

(C) Capital Account

(D) Annual Budget

Span of control refers to :

(A) the number of subordinates an
executive can effectively control

(B) the number of layers in an
organization hierarchy

(C) the number of divisions that the
organization can effectively form

(D) None of these

25.

26.

fordl 2o =1 ww o W sy i ek
A, 1 T aift S 7

(e = =t 9ff & fou swgea famen
)

(A) YTEH HgeH
(B) ®AMNR ®ge
(C) sit <

(D) affF a2

(A) i =1 g 59 us sfvemd
qurEt ¥y ¥ et o g &

(B) U WS U=-HUFA H Tl #f He@m

(C) favr =t g=n o) w e v
w9 9 fmin 2 e &

(D) ¥ 4 = 7

SPACE FOR ROUGH WORK / T% &1 & fordt we
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27. In accounting the policy “Anticipate no 27, wEIFET § "y JAHA 71 #Y 3w gsft
profit and provide for all possible losses” e A % forg wraym w5t 5 iy g:
isa:

(A) Convention of materiality (A) HRA F Ry
(B) Convention of consistency (B) frafaaa = vy
(C) Convention of conservatism (C) w<iafaar 1 goegy
(D) Convention of disclosure (D) v=¥[ FT qreEy

28. Henri Fayol has suggested 28. Bl dre 3 e F yeyq
number of management principles. sl =1 wafaa foay o
(A) 12 (A) 12
(B) 14 (B) 14
€) 16 () 16
(D) None of these (D) S9d=a & %2 &

29.  The surplus of sources of Funds in Fund 29, =9 yar fﬁﬁ‘?ﬂr &+ FT9 B I8 F aAfer
Flow statement state : AT B
(A) Borrowed Funds (A) W fod 13 w5
(B)  Increase in Fixed Funds (B) ¥t i F gfg
(€) Increase in Fund Payments (C) = el & 3fg
(D) Increase in Working Capital (D) wwivier gft & gfg

SPACE FOR ROUGH WORK / T% & & ferg g
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30.

31

The main Act that regulate the insurance
business are :

(A) Insurance Act and IRDA Act

Life Insurance Act and IRDA Act

(B)

Insurance Act, IRDA Act and
Indian Contract Act

(©

(D) General Insurance Act, IRDA Act

and Indian Contract Act

Which one of the following is not a theory
of International trade ?

(A)

Ricardian theory of comparative
cost

(B)

Theory of Reciprocal demand
(J.S. Mill)

(C) Opportunity cost theory (Haberler)

None of these

(D)

30.

31.

uF W AfufTan s dE seEE w6 E
m%:

(A) o srfufam it sme el
wfufay

e srEr Afafam iR AR.AELT
arfuafTam

(B)

a1 srfufm, o Ry, sfufaH
3Ryt dfag sfuf=m

(©)

(D) mr s afufEm, o s Eiy,
sifufaam @i yrda dfae sifufaa

g § 9 #w A =R w fagd
T 2?

(A) el =1 geers @ fasia

(B) wrEEfE w1 fagi (S, fie)

(C) rae @ fagid (seer)

(D) 379 § ®E T

SPACE FOR ROUGH WORK / T% &4 & fora sme
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32,

33.

34.

Sections related to Tax deducted at source
are :

(A) 190 to 196
(B) 190 to 194
(€) 192 to 196

(D) 191 to 19

Bonds that are denominated and pay
interest in one Ccurrency and are
redeemable in another currency are
termed as :

(A) Yankee Bonds
(B) ECU Bonds
(C) Dual Currency Bonds

(D) Double Benefit Bonds

Which of the following is the minimum
number of persons required for a
partnership ?

(A) 6
(B) 8
) 2

(D) None of above

a2

33.

34.

ST WM W 9t Frd ¥ Haifum yrrd
£

(A) 190 ¥ 19
(B) 190 ¥ 194
(C) 192/ 19%

(D) 191 ¥ 19

ST W SR g W i ey o @
mwﬁﬁmﬁmmwmﬁ
3 8 g =1 W@ o drem fea o T
Q’ﬁﬁ'ﬂﬁﬂﬁﬁﬁ%:

(A) TiF Fyqy
(B) EHLy swuym
(C) =t e sy

(D) T Y Sygy

AR & o0 =gam frad safet s
Ellcrpc Ranih-o)

(A) 6
(B) 8
) 2
(D) 9= 4 § #E 7&
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35.

(b)

(<)

(d)

36.

iMatch the items of List-1 with List-II

indicate the correct code of matching :

List - I List - II
FEMA (i) The right to value
or consideration
Consumer (i) 49 Sections
Protection Act
Economic (iii) Judiciary Powers
Environment
Political and (iv) Industrial Policy
Government
Environment
Code :
(@ () (o) (d)
(A) (iv) (i) (i) (i)
(B) () (i) (@) (iv)
© () (i) (v) (i)
(D) (@) @@ (@v) (i)

The sensitivity of return on capital
employed to changes in the level of
current assets is called :

(A)
(B)
(©)

Operating leverage
Financial leverage
Working capital leverage

(D) Current assets leverage

35.

(b)

(c)

(d)

36.

HEit-1 3R gEl-11 % we) 1 gAfen Hifad

wE wE faem % %2+ woEd
e - 1 it - 11
AT (i) ¥ a1 Hiawa
&1 HAfFER
Y T (i) 49 Rid
aitfam
afofer g (i) =i wifemat
e 3R (iv) et ifa
TR gafE
E T
(@ (b) (¢ (d)
(A) (iv) (D) (i) (D)
(B) (@) @) () (iv)
© @ @) @v) (i)
D) @) @ (v) (i)
T REETd it w1 | gfEds @ & fog
?‘ﬂa it T wfawer Ft HaETier FHEel
(A) = &y
(B) foreiia =y
(C) Fwieiter qsit <y

(D) =me] gftaeafy &y

SPACE FOR ROUGH WORK / 1% &4 & fod g
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37.

38.

In the early stage of product life cycle, the 37,

highly competitive industries follow :

(A) Expansion strategy

(B) Diversification strategy

(C) Functional area support strategy

(D) None of these

Statement - I : Minor income is exempt 38.

to the extent of 1500,

Statement - II : Income of T1500 of a
minor child shall not be included in the
income of his mother or father.

(A) Both statements are correct.

(B) Both statements are incorrect.

(C) Statement-1I is correct while
Statement - II is incorrect.

(D) Statement-I is incorrect while

Statement -11 is correct.

SR Sfte = & Wi wR 3= whnd
ST argeror e £

(A) fomr wrfify
(B) Tafaeawo vorify
(C) vorEiTs & guefy % 1rEfy

(D) 94 4 $1 =4

FUYT - 1 : ST & ¥ T1500 7% 77
oo Bt &1

HUT - 11 : TF A5 T9 *1 319 T1500
WMWmﬁmﬁmﬁqﬁiﬂaﬁ
ST |

(A) I o et &
(B) =HI Y e ¥

(C) U - 198 & it awem - 1171079 3

(D) 9T - 1 7o & 3 e - 11 Wt 3

SPACE FOR ROUGH WORK / T% &9 & o s
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39. In a test the probability of type I error is
0.01 and the probability of type II error is
0.05. Then the power of the test is :

(A) 0.01
(B) 0.05
(©) 0.99

(D) 0.95

40. From the following activities, find out the
functions performed by a foreign
exchange market :

(a) Provision of credit
(b) Issue of foreign currency

(c) Provision of hedging facilities
(d) An OTC market

(A) (a) (b) and ()

(B) (a), (b) and(d)

(©) (a) (c) and (d)

(D) (b), (c) and (d)

39.

40,

Ush GHeT § 289 - 1 3f< % wifaresar 0.01
T 229 - 11 7f2 1 Wifdasar 0.05 & = gdero
F e ¥

(A) 0.01
(B) 0.05
(©) 0.99

(D) 0.95

et framremi 5 & fee faf amm
510 wef¥fa forg g et 1 gz

(@) B F IEEE

(b) facsht ge1 =t S o

(c) wfereror fawel =1 waym

(d) OTC 9= R

(A) () (b) 3K (c)

(B) (@), (b) 3 (d)

€ (@) (o) 3 (@)

(D) (b), (c) ¥R (d)

SPACE FOR ROUGH WORK / T% T4 & ford wme
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41.  Inwhich sequence the following stepsare  41. fr=fafas i & 4 FI-H1 = T dof
followed to ascertain median for % fau aifeaen faufn e 2?2
continuous series ?

(a)  Frequencies are made cumulative (a) ARG ® HEdt T S ?

(b)  The median is located in cumulative (b) H=l SR Fom & it i1 Tor
frequency column and it lies in that I ¥ AR 7 3eft ot A v w2
class

N

(€)  The median is known by finding out (c) et =1 S Sy & 5 9 7% 9.

N™ jtem T % AT | Wi g d
2

(d) Median is calculated by applying (d) FIfen & wEmT Zry wifiaa 1 Yo
the formula o s &

Code : E T8

(A) (@) (b), (o), (d) (A) (@) ®), (0), (d)

(B) (@) (c), (b), (d) (B) (@) (c), (b), (d)

©  (© ®). (a), (d) ©) (©. @), @), (d)

(D) (@) ©). (b), @) (D) (d), (0), (b), (a)

SPACE FOR ROUGH WORK / T% &4 % fordt e
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42,

43.

Assertion (A) : Flexible exchange rate
involves deflationary effect.

Reason (R) : Flexible exchange rate
promotes international trade.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following statement is
true ?

(A) Goodwill of a business is not
deemed to be a capital asset.

(B) Contribution to a political party is
allowed expenses.

(€) Annual value of a house every year

remains the same.

(D) Deduction for
allowance is availed by govt.
servant.

entertainment

42,

43.

fieRer (A) : 79 fafra 52 sraorifa gaa
wftafera wa g

RO (R) : 79 fafmg @ sy =R
%1 WiedTed Far €1

(A) (A) WS (R) TFI TE € 3R (R), (A) F1
el T B

(B) (A) T (R) 2 WE € W (R), (A) F
el TRy 78

(C) (A) W& T, W (R) Teid |

(D) (A) 7o §, Wg (R) G&l &

frefafar § A s s a2

(A) =R Fi @Afd &1 st wutw @ qE
N Tl |

(B) UwHifes Wil i feam 7T =1 wigd
= B

(C) W Hafd 1 A Jeo wfqad gam
EAL

(D) HARSH W9 F1 g2 GERI FHaR F
frrerdt £1

SPACE FOR ROUGH WORK / T% 19 & forar smg
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44. Match the items of List - I with those of 44, et - [} 7 H1 g - [ 91 72} & e
the List - IT and indicate the correct Fiford wd Wt F2 2w Fifd
code.
List - I List - II et - 1 eIt - 11
(a) Clubbing of income (i)  Transfer of (a) 3 =1 fgem (i) I 64 F
US 64 BT
(b) Exemption of capital (i) Benami (b) R gEa IS A (ii) ST ZEER
gains transaction
(€)  Medical Insurance (i) Normal () @A (@) e
Premium maximum arfaaray
limit TGl
T 25,000 T 25,000
(d) Donation (iv) Section 80 G (d) <«# (iv) E80G
Code : %
(@ (b) (o (d) @@ (b) (9 (d)
(A) @ @) (@) (@) (A) () (i) (i) (iv)
(B) @@ @ @) (iv) B @ @ @) (v)
©) @) Gv) @ (i) Q) @) @v) @ (i)
(D) (v) (@) (@) (i) D) (v) @ @) ()
45. “Esprit de corps’ as a principle of  45. Ve fagia ¥ w9 § ‘ufoyg € widy’ &
management implies : s €
(A) Coordination (A) HH=Y
(B) Formal order (B) sitw=fis #n
(C) Union of strength (C) ® ™= & htEo
(D) Goal direction (D) w87 fadvm
SPACE FOR ROUGH WORK / 1% %14 % fo wme
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46.

47.

Assuming the normal distribution,  46.

suppose that a 95% confidence interval
for mean is (50, 60). Which of the
following could possibly be a 99%
confidence interval ?

(A) (48, 58)

(B) (48, 62)

(C) (52, 62)

(D) (52, 58)

Which of the following does not cause 47,

disequilibrium in Balance of Payment ?

(A) Lack of import substitution

(B) Payment of debts

(C) Lack of exports

(D) Unsatisfactory use of human
resource

IE A0 g fo gamr @21 |, 9 fE o
¥F fow 95% favaraa, siav@ (50, 60) 21
Fr=fafas o gweEe: 99% favarem sfate
Bhm

(A) (48, 58)

(B) (48, 62)

(C) (52, 62)

(D) (52, 58)

Freafafes § @ #5 @ yom & 9w
STHGE 1 HR TEH T ?

(A) AT WFTETIT T S

(B) R 1 YA

(C) Trafa =1 svma

(D) WHE HEYA & SHAGSTE 394N

SPACE FOR ROUGH WORK / T% e & fora smg
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48. Statement - I : Advance tax is calculated  48. WY -1: 3T F F1 TF T T F A
on previous year income. BN #
Statement - I : If estimated tax payable T - 11 : AR ST W F 9% s
after T.D.S. is not exceed to ¥ 10,000 then AR T AR 10,000 F F9 3, 7 sy =
advance tax will not be paid. & g R
Statement - III : Second instalment of A - 111 : Tk 4t 3 teran 3 ferg sifim
advance tax payable in case of assessee w1 e forea 1 3 fafy 15 faawam )
fall due 15" September.,
(A) Statement - I and II are correct but (A) HIT- 19105 ¥ wafs wew - 11
Statement - I1I is not correct. el AE
(B) Statement - II and III are correct (B) =HeT- 19 111wt ¥ wafs e - |
but Statement - I is not correct. TE T &
(C) Statement - I and 11 are correct but (C©) =E7-19 I & & wafer waq- 11
Statement - II is not correct. et & ]
(D) All the statements are correct. (D) @+t Ty we #
49. Which of the following is not a non-tariff 49, Fraferfea & 4 =9 wr fa2vit STIR 1 TYoh
barrier of foreign trade ? e =mend = 2 2
(A) Export quotas (A) frafa ==
(B) Product valuation (B) 3 Hedis
(C) Protective tariffs (C) HifHa gy
(D) Multiple-exchange rates (D) wg-fafma =
SPACE FOR ROUGH WORK / T% =14 % forg e
Set - A 26 9210/TFU-COMM/ELG-II




50.

51.

52,

The Theory of comparative costs was first
propounded by

(Complete the sentence by choosing
appropriate words to fill the blank)

(A) David Ricardo
(B) Ohlin
(C) Robinson

(D) Alfred Marshall

If a partner contributes in a partnership
business, then his status in firm is :

(A) Partner
(B) Employee
(C) Creditor

(D) None of above

Which of the following is not an
international financial institution ?

(A) IBRD
(B) IMF
(C) IDBI

(D) IFC

50.

51.

52.

dadrcA® @rE & fagia #1 wdugm
B yEarfea faan

(faa == =1 9fd Sugs I &1 990 0
ifs)

(A) =fgs fret

(D) #ERE TEE

ekl =auE | afe uF TEER dreE 29
&, o v | sue fufg adf ¥ .

(A) HIEER i
(B) =
(C) TER &t
(D) ST H | HE &

frfefea & @ % w simiia fasita geen
& ® 7

(A) oTE.st AR
(B) E.UAUE.
(C) o1t tang,
(D) SETHEH.

SPACE FOR ROUGH WORK / % &1d & foa s
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53.

54.

55.

In a Company if current liabilities are
¥3,00,000 and current ratio is 3 : 1 and

quick ratio is 1 : 1 then value of stock will
be :

(A) 80,000
(B) ¥ 60,000
(©) 50,000

(D) ¥ 90,000

Which of the following is not Marketable
Asset ?

(A) Share
(B) Government Securities
(C) Bonds

(D) Provident Fund

Assertion (A) : Correlation coefficient
varies between +1 and —1.

Reason (R) : Regression coefficients
range between +1 and —1.

(A) (A) is correct but (R) is wrong,.
(B)  (A) is wrong but (R) is correct.
(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are wrong.

58,

54,

55.

fersit seft # afs = arfae T 3,00,000

T AN ST 3 : 1 TS v S 1018
Al SHF Y 1 goF 2

(A) ¥ 80,000
(B) ¥ 60,000
(©) % 50,000

(D) 90,000

ﬁﬂﬁmﬁﬁaﬁq—mﬁmqﬁmﬁﬂﬁf
2?7

(A) ¥

(B) weFEH whvferat
(C) =Ygy

(D) wfasy fafy

ARG (A) : Ge-Hay qoiF +1 3 1
F e uftafdd g €

1T (R) : FHIFE 075 H +1 3% —1
& A BT |

(A) (A) W& B, Wg (R) T B
(B) (A) e &, T (R) Wl &
(©)  (A) 3R (R) 3 =t &
(D) (A) 3R (R) S era # |

SPACE FOR ROUGH WORK / 1% &Td % ford s
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56.

i

Assertion (A) : Devaluation in general is
resorted to increase the exports.

Reason (R) : It makes exports cheaper.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Which new Indian Accounting Standard
provides standards for (i) Intangible assets
and (ii) Earning per share ?

(A) AS 38 and 33

(B) AS 28 and 40

(C) AS 38 and 101

(D) AS 40 and 101

56.

57.

fumaT (A) : sEgeE, m=m: e §
gfg % fou famn < 21

T (R) : T8 Fraia &1 T s g1

(A) (A)TE (R) 3 WEl € 3R (R), (A) F1
e Ty ¥

(B) (A) TS (R) <Hi W€l € Wi (R), (A) &I
e Tt T B

(C) (A) T8 %, WG (R) Tord €1

(D) (A) 7o 8, 9 (R) W&t &1

W T IRAE A@ET G (i) I
il e (i) wfa @ o 1 wefifa s
F HE Sd & ?

(A) AS 38 3R 33
(B) AS 28 3T 40
(C) AS 38 3i® 101

(D) AS 40 3 101

SPACE FOR ROUGH WORK / % %d % foad woig
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58. Following is the use of Business 5. oot fomfor 3 &t 3 sraram srefomes =1 s9dm
Economics in the area of decision fore fau gar &2
making :
(A) Understanding the external forces (A) srefemaEn § am uiw o) LEEE
in the economy
(B) Knowledge of costs incurred (B) <FTA 1§
(C)  Profit planning (C) =y feem
(D) Sales forecasting (D) foa gaiqam
59.  Match the items of List - I with those of 59, T - 1 W g - o e ¥ Oy
List - II and indicate the correct gAfera #9552 ¥ Wl 59 = EEE
code. Fifsa |
List - I List - II et -1 It - 11
(a) Tax management (i) Under-statement (a) X HEyY (i) @ = F9 fammn
of income '
(b) Tax avoidance (ii) Deduction of tax (b) = ufEm (i) T E WFFH
at source 5 FHENdr
(c) Tax planning (i) Misinterpreting  (¢) &% fadem (i) IR Afyfag F
the provisions of ' : R T e
the income tax act e
(d) Tax evasion (iv) Legal and moral (d) =% ayua=H (iv) === = Syife
way of tax saving i R A il
Code : - iﬁ’.‘ i
@ (B () (4 @ (b) (o (9
(4) @) @) (iv) () (A) @) () @Gv) @)
(B) @) @) (i) () B) (v) @) () (i)
© @ @ (v) () © @@ @ ° (Gv) ()
D) @ @v) (i) () D) @ Gv) ) ()
SPACE FOR ROUGH WORK / % & & fet g
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© 60.

(a)

(b)
()

(d)

61.

Match the following :

List-I

Single investor (i)
lease

Leveraged lease (ii)

Cross-Border (i)
lease

Full payout (iv)
lease

Code :

@ () (9
(A) @ @) (i)
(B) (@) @ (v
© @ (@@ (@)
(D) (iv) (i) (i)

When the past data is projected into the
Future, without explaining the reason for

List-II

3 parties

2 parties

Finance lease

International
lease

(d)
(iv)
(i)
(iv)
(1)

Future trends, it is known as :

(A) Partial Forecasting

(B) Mathematical Forecasting

(C) Naive Forecasting

(D) Trend Projection

60.

(a)

(b)
()

(d)

61.

-1 -11
TFd v e (i 3ufeg

AR (i) 2mfém
HH1-9R & (iii) faeig =i

o ST e (iv) SR it

(@ () (o) (4
(A) @ @) @@ ()
B) @ @ (v) (i)
© 0 @ @ (v
D) Gv) @) @) ()

wfer= 3 wofel % o =1 e 3 # gu
forel a-7d e 1 ofas § gafg w0
1 FEa € :

(A) ST gaigam
(B) Tttt gt
(C) et gafgHm
(D) w3fa afedrsin

- 9210/TFU-COMMY/ELG-II
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62,

63.

Which of the following assumption is not
related to consumer behaviour based on
the cardinal utility approach ?

(A) Utility cardinally measurable

(B) Maximization of satisfaction with
limited money income

(C€) Diminishing marginal utility of
money

(D) Rationality

Which of the following statement is
correct ?

(A) A partnership can be a general
partnership

(B) A partnership can be a particular
partnership

(C) (A) or (B) anyone

(D) None of these

62.

63.

A ST 39T % seR W e § @
aﬁq—ﬁw,mﬁammnﬁmﬁa?ﬁ
()

(A) 39T WoEE: W &

(B) wifad w7 sy & Wy wyfe =1
AfYFaHHT
(C) ¥4 & Hrid syhfirar =1 e

(D) aETfy

Feffer d d em mwem wm $ 2

(A) HIHSH, T AR B W

(B) WEER, U fafire arEer & ged &

(©)  (A)(B) #

(D) 39§ 4 T8

SPACE FOR ROUGH WORK / T% T & forgy e
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64. The concept of

65.

limitations of marketing philosophy,
acknowledging the need to impose
regulatory constraints on the market
mechanism in economic development
(Van Dam and Apeldoorn), particularly
the impact of marketing activity on the
environment.

(A) Ethics

(B) Green marketing

(C) Sustainable marketing

(D) TQM

major

The suppliers of
instruments in the Capital Market are :

(A) MNCs

(B) NBECs

(C) Flls

(D) Government and Corporations

accepts the  64.

trading 65.

&1 gy, arfded fawmm #
foaue 7 1 9md, fagoA @5 w fafus
AAS T ARG FA FT AETIFA T
A1 9SH HEA (39 29 &R ulegH)
fovoen 8 wefa w fagum wfafafie &
TUE SER F 2

(A) ifaemre
(B) @ faum
(C) dmuitg fagom

(D) TQM

JSTTa SR § SHTIR ST & e giiwn
¥:

(A) TH.TAH.
(B) TA.E.TEH,
(C) U.37T3.37.

(D) &R TE fam

SPACE FOR ROUGH WORK / T% &4 & fora =g
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66.

67.

Which of the following attributes is/are
correct with regard to Money Market ?

()
(b)

(©)

(d)

(A)
(B)
©)

(D)

It is a market for short-term funds.

Maturity of the instruments in this
market is above one year.

Its basic function is to provide
efficient liquidity position for
financial institutions, mutual funds
and insurance companies,

Any financial institution can issue

money market instruments without
license.

(a) and (b)
(b) and (c)
(b) and (d)

(a) and (c)

Which of the following is not a feature of
the Consultative Style of Management ?

(A)
(B)
(©)

(D)

Motivating Employees
No upward Communication flow
Downward Communication flow

Managers acting as Consultants

66. ﬁmﬁfﬁaﬁﬁaﬁqw@mﬁaaﬂw#
oy o W &8 2

(a) =% sreumEfy fafy waet amm §)

(b) wmﬂmﬁqﬁmﬂw
A F T F|

(c) Tadm deeamd, wewmht fafy siiw <y
WﬁMWMﬁmm
THH gAYd 1 ¥

(d) #mﬁmmmamm
TS IV ! ST FE Gy & |

(A)  (a) $R (b)

(B) (b) ¥R ()

©)  (b) 3 (d)

(D) (a) 3l (c)

67. ﬁmﬁa—ﬁ:gaﬁﬂaﬁmnﬁuamwmm
Jeft i ferdraar = 2

(A) FH=IfE = drefeg s
(B) mﬂrﬁ@wmaﬁw
(C) Tt Wiy yare

(D) wweiREE & w7 § yeumy w5
FATEL

Set - A
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68.

69.

70.

In year 2018 Government of India
allowed FDI in single brand retail
through automatic route is

(A) 51%
(B) 49%
() 100%

(D) None of these

Point out from the following pair which
does not match ?

(A) IMF - Bretton Woods Conference
(B) SAARC - Dunkel proposals
(C) WTO - GATT

(D) EXIM Bank - Finance for imports
and exports

Share forefeiture account is a :
(A) Real Account

(B) Personal Account

(C) Nominal Account

(D) None of the above

68.

69.

70.

=¥ 2018 H YA WHR 7 Gl Uhed i §
el A7 8 TE.ELemE. & owta &
AR R |

(A) 51%
(B) 49%
(C) 100%

(D) T8 | =i &

i 3§ § -l e gifem 8 &7

(A) IMF - f5e7 939 Hi=hiH
(B) SAARC - el WAl
(C) WTO - GATT

(D) EXIM &% - s1mm 3R fafa & fag
fam

ERESURCIC R

(A) arfas @
(B) =Aferra @ran
(C) T T

(D) ST=H 9 FE T8

SPACE FOR ROUGH WORK / 7% %™ & fad 97e
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71. For qualitative data, the most suitable 71, oI 221 % fou, F=214 Ygra w1 gaifs
measure of central tendency is : I9ERt A #
(A) Arithmetic mean (A) ¥HIT "
(B) Geometric mean (B) Ity ey
(C) Median (C) wifearam
(D) Mode (D) wEeTH
72.  The amount of gold, reserve currencies ~ 72. SR fag =amm ¥ aifiq e am
and special drawing rights available for A=, S EI,ETQT{'q' fafere smeam & aifin
the finance of international trade is I FEd € :
known as :
(A) Special Drawing Rights (A) fafere smeaw sfusr
(B) International Liquidity (B) edE qeema
(C) International Finance L (©Q) simieE faw
(D) International Currency (D) faUeta gz
73 strategy is a promotion 73, ___ Tortfa U Yedd wEiTg & S
strategy that calls for spending a lot on #in & fwior & ferg famre aiv mes
advertising and consumer promotion to T R wfuw = s ¥ afz o8 o
buildup consumer demand. If the TIrE! Tl S F § IS 1 e qh
strategy is successful, consumer demand TG |
will move the product through the
channel.
(A) Pull Strategy (A) Y& T
(B) Integrated Strategy (B) Ushigha oI
(C) Push Strategy (C) 9 it
(D) Blocking Strategy (D) =iteT o
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74.  In case of liquidation of a Company for a
recover contributor’s are :

(A) Creditors and debenture holder’s of
a Company

(B) Shareholders of a Company

(C) Shareholders upto outstanding
amount

(D) All of the above

75. Given the following set of information,
indicate the correct combination to define
the process of perception in order to
understand consumer behaviour.

(a) Selective attention

(b) Selective distortion

(c) Selective retention

(d) Selective apprehension
(A) (a) and (d)

(B) (a), (b) and (d)

(© (), () and (d)

(D) (@), (b) and (¢)

74. FEA 9fEET ) e § frens ¥
YT | 3TV §

(A) T % TR 6 HORHE

(B)

(©)

FOET F I

Tl o 315 A 9 AUt

(D) 3IHF |+t

75. 9 feU TQ gEed F wyem | @, 39viEar
SR 10 7 F fore Sumifer wiwan & wdr
STIHH = AT FHife |

(a)
(b)
(<)
(d)
(A)
(B)
(©)

(D)

=IATHE 9
e fafa
HHATHS YT
FIATEHE gfg
(a) 3T (d)

(), (b) 3R (d)
(), (c) 3R ()
(a), (b) ¥ (c)
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76. An exception to the rule of ‘No  76. ‘¥ foumr-fomdl - 7 wfaer’ =1 fram & for
Consideration - No Contract’, is : YR €
(A) Promise to pay debt (A) RO YA F fau g9
(B) Promise to pay time-barred debt (B) <HTeriid kY YPaM ¥ fog ==
(C) Debt (C) =W
(D) Past debt (D) =udta Fo
77.  Assertion (A): Internal factors of business ~ 77. ifWSHYUT (A) : SHEWITIF Y= F apiafiE
environment are uncontrollable factors. HEH AT g2 B ¥
Reason (R) : The Company can not alter U (R) : F941 U T2 &1 ggfewm &
or modify such factors to suit the fom IYgH a1 Eﬂ uftafda =1 deifua &
environment. F Gehdl T
Code : E &
(A) Both (A) and (R) are incorrect. (A) (A) 3R (R) I Tera ¥
(B) Both (A) and (R) are correct. (B) (A) 3R (R) ST @&t ¥
(C) (A) is correct but (R) is incorrect. (C) (A) W& T WG (R) To &
(D) (A) is incorrect but (R) is correct. (D) (A) 7o ® W (R) T8 ¥
SPACE FOR ROUGH WORK / 7% &% & fod g
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78.  Match the following : 78. 7= =1 faem =ifsm
(a) Maslow (i) Motivation-Hygiene (a) TREA (i) YiEEA-gEA

(b) Herzberg (i) Need hierarchy (b) wsiam (i) USHIA P SETIHA
(c) Alderfer  (iii) Existence-Relatedness- (c) IE=TE (i) SHiaE-Haga-gig
Growth
(d) McClelland (iv) Need for achievement (d) FFFRTAS (iv) St 3 sTavEHa
Code : %e
(@ (b)) (o (d) (@) () (¢ (d)
(A) ) @) (@) (v) (A) @ @) @) (@)
(B) @) () (i) (v) B) () @) @) (v)
(©) (@) @) @ (i) (© @) @) @) (iv)
(D) (v) (i) @) @) - (D) Gv) () (@) ()

79. IfaPoisson distribution has mode atx=3 79, afg Wiw foamm =1 agerr =3 SR 4w &

and 4, then the coefficient of variation is : a1 fer=roon =1 T[T g
(A) 25% (A) 25 wfoem

(B) 50% (B) 50 wfewra

(C) 100% (©) 100 wfawa

(D) 200% (D) 200 wfas

80.  Which of the following would not be one  80. f=fafEa & & F-a1 forgrTs =1 v wiafas

of the primary objectives of advertising ? v T § 7

(A) To inform (A) SR &
(B) To persuade (B) &I T
(C) To remind (C) TR0 T
(D) To make profits (D) =Y HMET
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81. For analysis of variance the appropriate ~ 81. for=ww &1 faverm & ToTT Sugert odiem €
test is :
(A) Z test (A) Z adeo
(B) A test (B) A Tiigmoy
(C) ttest (C) tTdtem
(D) F test (D) F adiem
82. The first ADR was introduced by  82. W HF ZW W4W ADR %1 yeaia fean
J.P. Morgan in : RIEIR |
(A) 1947 (A) 1947 H
(B) 1932 (B) 1932°®
(C) 1927 (C) 1927 ¥
(D) 1925 (D) 1925
83. Who formulates Basel guidelines ? 83. W& ATiedH w1 framT fFaa e ?
(A) G20 Countries (A) sf.20 2w
(B) OECD (B) I
(C) BCBS (C) dtdtstug.
(D) World Bank (D) === =
84. Multinational ~ capital budgeting  84. EUET ot Tz TFAFI 1 SwET FHd
techniques are used in : T s &2
(A) Foreign portfolio investment (A) Tageft drewmifer fraer favemm
analysis
(B) Foreign direct investment analysis (B) foeeht werer fraw faveram
(C) Both (A) and (B) (© (A) T (B) 3
(D) None of the above (D) 390 H A FE T
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85.

86.

87.

Developing a product or modifying an old
product in accordance with the
preference and purchasing power of a

potential customer is termed as :
(A) Customisation

(B) Tailoring the product

(C) Customer centric approach
(D) User Friendly policy

Which of the following is not considered
as objective of IMF ?

(A) To promote international monetary
co-operation
(B) To ensure balanced international

trade

(C) To minimise imbalances in

economic growth of member

countries
(D) To minimise imbalances in
quantum and duration of

international trade

A Bangladesi Cricket Player comes India
since 2008-09 every year to play cricket
State his
residential status for assessment year
2019-20.

(A) Ordinarily resident

(B) Not ordinarily resident
(C) Non resident

(D) None of these

and stays here for 120 days.

85.

86.

87.

s HYTSA URF o aidd U A vfem &
HTAR fHHt [H SR &1 fasE Agan

(A) FfegHm

(B) IcUR W &l
(C) e Hfzd 9™
(D) 39T R Aifa

fr=fafas & @ st9-w1, IMF =1 32vg
T © ?
(A) e fafaa weam i1 venfea =

(B) wgfera simiwra =R w1 gfafvem
Eag |

(C) He=a 29l & anifeier fashma #1 swiger
I & HE

(D) el =R #1 s@fy da aaien
ST & FH FET

W AT fohehe fEemet 2008-09 | wfaard
4R H fFhe @er 3 # ot wwa 5120
e war 81 &t Faufoor 3 2019-20 7 o
gt Framdtg frafq =0 2rft 2

(A) =R frard

(B)  armmwo e
(C) st

(D) 3 A | i &

SPACE FOR ROUGH WORK / T% & & fordf =g

Ty 3
9210/TFU-COMM/ELG-II

Set - A



8. Which of the following is not an objective 88, firsifitfay | FE T stwe

of performance appraisal ? 32V T B2
(A) Performance Feedback (A) T wfagfie
(B) Performance Improvement (B) froargm gur
(C) Promotions Decisions (C) wr=fa iy
(D)  Preliminary Screening (D) Ry BrEA
89. Match the following : 89. fm =1 faem #ifen
(@) F.W.Taylor (i) Bureaucracy (a) TH.TE. 2R (i) e
(b) Max Weber (i) Administrative (b) 9 = (i) wmaﬁu
Management EERe)
(c) Chester I (i) Scientific () =M. aE  (iij) ﬂmﬁﬁ
Barnard Management T
(d) Henri Fayol (iv) Social System (d) & HeEre (iv) -\t
S
Code : He :
(@ (b) (0 (9 @ M (© @
(A) @) @) @) () (A) O @) @) ()
(B) @) @) @) () (B) @) @@ @v) ()
© @) @ @Gv) @ © ) @) @v) @
(D) @) @ (v) (i) D) @) () (@v) (i)
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90.

91.

92.

Assertion (A) :

independent of capital structure.

Reason (R) : Rate of return is not

influenced by the sources from which the
funds have been raised.

(A)
(B)
(©)

(D)

When does silence amount to fraud ? 91.

The term super financial hub in the  92.

Both (A) and (R) are correct.
(A) is correct but (R) is wrong.
(A) is wrong but (R) is correct.

Both (A) and (R) are wrong.

In contracts uberrima fides
In change of circumstances
Only in case of (B) above

Both in case of (A) and (B) above

content of banking is called :

(A)
(B)
(©)

(D)

Universal Banking
Narrow Banking
International Banking

Wholesale Banking

Business risk is 90.

ATuRET (A) : eI sifigg gt g
EE=GERnIES

T (R) : FA%el <X 34 a9+l | gvifaa
& 2 WEl ¥ F (fund) F Taemw fHE
TR

(A) (A) 3R (R) 3T et €
(B) (A)5& & g (R) T &1
(C) (A) e &, Wig (R) e 7
(D) (A) 3R (R) ST e &

U, e B H FRO TG L ?

(A) 9of HRHe wfew #

(B) e ¥ wWaeH o

(C) mm{s}#ﬁwﬁ

(D) 39U < (A) 3R (B) & fawg &

S & Hed # g fasiy g9 T 1w
g:

(A) wrEsiifaes SfEm
(B) Henrvl dfem
(C) Hausa dfFn

(D) o dfem
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93. If P(A)=05, P(B)=0.6 and P(AnB)=04, 93. afz pA)=0s5, P(B) =0.6 3R P(AnB) = 0.4
then P(A/B¢) is equal to : ®, 79 P(A/BC) SRt 2 -
(A) 0.30 (A) 030 %
(B) 0.67 (B) 0.67 %
© o070 (C) 070 %
(D) 0.75 D) 0.75%
94.  Section 138 of Negotiable Instrument Act 94. wGHET feran sifufm %1 ur 138 1 g
was amended in which year ? ad H Weifer fapam e 2
(A) 1999 (A) 1999
(B) 2008 (B) 2008
(C) 2001 (C) 2001
(D) 2002 (D) 2002
95. Who proposed the ERG Theory ? 95. ERG fgra %1 e weafaq a2
(A) Victor H. Vroom (A) foaz = 3w
(B) Lyman W. Poter (B) ©EWH T, drex
(C) Clayton Alderfer (C) T Aoty
(D) McClelland (D) HFaeirere
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96.

o7,

The central government has so far entered 96,

into agreement for avoidance of double
taxation with many countries. These
agreements may be classified into
following parts :

(a) Agreement for relief from Double
taxation ;

(b)  Agreement for avoidance of Double
taxation

(c) Agreement for tax planning
(d) Agreement for tax evasion
An appropriate combination is :
(A) (a) and (b)

(B) (¢)and (d)

(€ (b)and ()

(D) (a) and (d)

The balance of payment account is  97.

conventionally divided into :

(A) Current and non-current account
(B) Revenue and capital account

(C) Capital and assets account

(D) Current and capital accounts

F8 TER A R FEOY g g96 (9fER)

% fore =2 2 % Ty T e €@ fre
Tt # Fiiehe o o Hean #

(a) EIEY FIETW F Wed & forw ZevE

(b) TR FAR ¥ F=E (9fer) ¥ fau
deld

(c) = Fdem & o gemm
(d) = AvaEg % fog semm
3fera T ¥

(A) (a) ¥ (b)

(B) (o) 3 (d)

© () 3R ()

(D) (a) 3 (d)

YA G F 9 %I wgma w9 9 fawfam
T s 2 :

(A) = 3R R-=re @W
(B) TS &R ISirTa =W o
(C) s 3ir ftgafa @m &
(D) =T 3R it e &
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98. Insolvent has been defined under which 98, At faha stffam %1 farm um & feanferan
Section of Sale of Goods Act ? 1 Rt faem e &2
(A) Section 2(5) (A) M 2(5)
(B)  Section 2(6) (B) T 2(6)
(C) Section 2(7) (C) w27
(D) Section 2(8) (D) =m2(8)
99.  According to promotional mix, method 99. WaH a9 F AR, for @y 5 g
which focuses on building relationships & foru Safers swvimanei & T Hay famior
with individual customers to maintain W I fraw =1 % s g
lasting relationship is called :
(A) Sales promotion (A) Tafsw a7
(B) Direct marketing (B) ¥H& =R
(C)  Direct channelling (C) w8 Heofe
(D) Offline promotion (D) HiFemgq adfq
100. Anactofaparmg»ris that of firm or not 100. w@wmﬂwﬁmw%maﬁw
is a question of ; TEE
(A) Fact (A) =7 =
(B) Law (B) fafy =
(C) Fact and Law both (C) a9 e fafy 3 =
(D) None of above (D) W d § #E 8
-000- -00o0-
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|SET-A

I fRa FA wT AT 2 } : férRam i : 200

Time for marking answers : 2 Hours Maximum Marks : 200

e

1. =9 wA-giEe 4 100 S5 v § - yos wed 2 ot 3 ¥ ¥ WY & AT Sfrard #

]

W % I, & T OMR IWR-¥i2 (Hiq-3ie) R st Fifsm |

3. RUIRHE WAk e fRal s

i

mﬁm%%ﬁammmeWWmaﬁaél

5. OMR FW-3T (H-3f=) WA F GHT U B I T w0 S T W s
o5 Hrg 1 faeraz 3fE vg W fred weraey 98 T @ s

Note :

1. There are 100 objective type questions in this booklet. All questions are compulosry and
carry two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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